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3 years ago the ratio between A and B is 4:1. After five years the some of their age will be 66 years. 
Find the present age of A?
3 साल पहले A और B के बीच का अनुपात 4:1 है। पाांच वर्ष के बाद उनकी कुछआयु 66 वर्ष होगी।
A की वतषमान आयु ज्ञात कीजिए?



Meena got married 8 years ago. If his present age is 4/3 times his age of marriage. If his daughter is 1/8 times 
his age, then find the sum of their ages after 5 years?
मीना की शादी 8 साल पहले हुई थी। यजद उसकी वतषमान आयु उसके जववाह की आयु की 4/3 गुना है। यजद
उसकी पुत्री अपनी आयु की 1/8 गुनी है तो 5 वर्ष बाद उनकी आयु का योग ज्ञात कीजिये?



After 12 years, If the difference between the age of A and B will be 16 years. 3 years ago, A was 3 
times the age of B. Then find the present age of A?
12 वर्ष बाद, यजद A और B की आयु के बीच का अांतर 16 वर्ष होगा। 3 वर्ष पहले, A, B की आयु का 3 
गुना था। तो A की वतषमान आयु ज्ञात कीजिए?



If the sum of the age of father, mother and son is 96 years. After 8 years mother will be 3 times of the son’s 
age and father’s age will be the sum of mother and son’s age at that time. Find the present age of mother?
यजद जपता, माता और पुत्र की आयु का योग 96 वर्ष है। 8 वर्ष बाद माता की आयु पुत्र की आयु की 3 गुनी
होगी और जपता की आयु उस समय माता और पुत्र की आयु का योग होगी। माता की वतषमान आयु ज्ञात
कीजिये?



At the time of marriage, average age of couple was 24 years. Their son is born after 2 years and a daughter 
after 3 years from that time. Then find the average age of their family after 10 years? 
जववाह के समय युगल की औसतआयु 24 वर्ष थी। उनके 2 वर्ष बाद पुत्र और उस समय से 3 वर्ष बाद एक
पुत्री का िन्म होता है। तो 10 वर्ष बाद उनके पररवार की औसतआयु ज्ञात कीजिये?



The ratio of the age of three brothers is 2:3:4. If their average age is 27 years then find the average 
age of younger brother?
तीन भाइयो ां की आयु का अनुपात 2:3:4 है। यजद उनकी औसतआयु 27 वर्ष है तो छोटे भाई की
औसतआयु ज्ञात कीजिये?



A is as much younger than B as he is older than B. If the sum of the age of B and C is 52 years then 
find the age of A?
A, B से उतना ही छोटा है जितना जक वह B से बडा है। यजद B और C की आयु का योग 52 वर्ष है, तो
A की आयु ज्ञात कीजिए?



After 5 years the age of A is 3/7 times of B. 3 years ago the ratio between A and B was 1:5. then find 
the present age of A?
5 वर्ष बाद A की आयु B की 3/7 गुना है। 3 वर्ष पहले A और B के बीच का अनुपात 1:5 था। तो A की
वतषमान आयु ज्ञात कीजिए?



10 years ago father was 3 times of his son and after 10 years father will be 2 times of his son the 
find the present age of father?
10 साल पहले जपता अपने बेटे का 3 गुना था और 10 साल बाद जपता अपने बेटे का 2 गुना हो
िाएगा जपता की वतषमान आयु ज्ञात कीजिये?



If A is 6 times of B. After 10 years A will be 2 times of C. If C celebrated his 3rd birthday 7 years ago 
then find the present age of B?
यजद A, B का 6 गुना है। 10 वर्ष बाद A, C का 2 गुना होगा। यजद C ने 7 वर्ष पहले अपना तीसरा
िन्मजदन मनाया तो B की वतषमान आयु ज्ञात कीजिए?



If radha’s mother is 29 years elder than Radha. If age of radha after 4 years is half of the age of 5 
years back of her mother age. Find the age of Radha?
यजद राधा की माता राधा से 29 वर्ष बडी है। यजद 4 वर्ष के बाद राधा की आयु उसकी माता की 5 वर्ष
पूवष की आयु सेआधी है। राधा की आयु ज्ञात कीजिये?



Father is aged three times more than his son Ronit. After 8 years, he would be two and a half times of Ronit's 
age. After further 8 years, how many times would he be of Ronit's age?
जपता की आयु अपने पुत्र रोजनत से तीन गुना अजधक है। 8 वर्ष बाद, वह रोजनत की आयु का ढाई गुना होगा।
और 8 वर्ष बाद, वह रोजनत की आयु का जकतना गुना होगा?



A father said to his son, "I was as old as you are at the present at the time of your birth". If the father's age is 
38 years now, the son's age five years back was:
एक जपता ने अपने पुत्र से कहा, "मैं तुम्हारे िन्म के समय उतना ही बूढा था जितना तुम वतषमान में हो"। यजद
जपता की आयु अभी 38 वर्ष है, तो पाांच वर्ष पूवष पुत्र की आयु थी:



A is two years older than B who is twice as old as C. If the total of the ages of A, B and C be 27, then 
how old is B?
A, B से दो वर्ष बडा है, िो C से दोगुना बडा है। यजद A, B और C की कुल आयु 27 है, तो B की आयु
जकतनी है?


